Cornacosano: IlepeyeHb OCHOBHBIX JeTalIeil M Y3J10B YTBepKIaio
HNuxeHep-KOHCTPYKTOP ra3’oHOKOCHJIKH PVYHOM TexHU4eCcKUil TUpEKTop
_ HerporB.I. aaexTpudeckoii F'PI-1,5
WHKeHep TEXHOJIOT _ AwumncenxoB O.A.

Pomanuyk A.C. < 2015 .

IMos3. HaunmeHoBaHHe Kou. 31 CronopHoe koJbio @ 23 1
1 laiika M10L 1 32 Koneco 3y6uaroe Z=22 1
2 ®nanen BHEMHUHA 1 33 Homumauk 606RS (6x17x6) 1
3 Hox 1 34 Bunt (camopes) 4x16 10
4 dnanen 1 35 Kopmyc npaBblii 1
5 Dranen BHyTpEHHHH 1 36 Bunr (camopes) 4x16 3
6 Bunur M5x10 S 3 37 Bunr (camopes) 4x14 4
7 DaHel NbUIe3auUTHBII 1 38 Kpslmika penykropa 1
8 BbobuHa B cbope 1 39 BunT (camopes) 5x55 2

8.1 | Kopmyc 600uHEI 1 40 Kopmyc penykropa 1

8.2 | lllaitba @ 16 2 41 [Topmunank 6001 RS (12x28x8) 1

8.3 [TpyxuHa koandeckas 2.2 L=59 1 42 SIkopb 1

8.4 | Karymka 1 43 HMogmunauk 608 RS (8x22x7) 1

8.5 Koxyx 3anmTHbIi 1 44 Brikouarens 1
9 PenykTop B cOope 1 45 Konpencarop (0,33uF; 275B) 1

9.1 Komp1io cTonmopHoe BHyTpeHHEee O 32 1 46 TepmocTar 1

9.2 | Hlnuuaens 1 47 Jpoccenb 1

9.3 Hommmmank 6002RS (15x32x9) 1 48 Crarop 1

94 Kouneco 3ybuaroe Z=20 1 49 ®dnaner 3aHui 1

9.5 | Hommmunauk 6000RS (10x26x8) 1 50 Bunr (camopes) 3x10 2

9.6 | Kopnyc penykropa 1 51 Mlerka 7x11x17 2

9.7 | Buar M6x10 S 1 52 IlleTKoMEpKATETD 2

9.8 | Buar M5x12 S 1 53 Brynka @ 8 1

9.9 | Bunt M5x25 S 1 54 Bentuisitop 1

9.10 | Bay-mecrepust Z=15 1 55 Taiika M8 1

9.11 | Hommmmauk 609RS (9x24x7) 2 56 Iuyp ceresoii 2x1, L= 0,55 M 1

9.12 | Koubllo cTonmopHoe BHyTpeHHee O 24 1 57 TpyOka 3ammrHas 1

9.13 | Komb1o cronoproe @ 10 1 58 Bunr (camopes) 4x11 2
10 | Koxyx 3aluTHbIH 1 59 [InacTUHA OPUKUMHAS 1
11 [Itanra HIWKHsIS B cOope 1 60 Kopriyc JieBblit 1

11.1 | Hwxkass mwtadra 26x730MM 1 61 BJIOKMPOBKA BBIKIIIOYATENS 1

11.2 | 3aknenka 1 62 [Ipyxuna kpyuyenust 1.5x12x6 1

11.3 | Kponnrreiin 1 63 Ckoba 1

11.4 | IlnactuHa — npy>KUHA 1 64 [pyxwuna 0.8x9.5x25 1

(TIoKa3aHa YCIOBHO) 65 KaBuina BBIKIIOYEHUS] 1

11.5 | 3akuenka 1
12 Bunt M5x16 S 2
13 Brynka (mmactuk) @ 22,5 6
14 XKectkuii Ban 9x745mMm 1
15 Brynka npuBonHas 2
16 dukcarop 4
17 KpoHureliH kperjieHus mMTaHru 1
18 Bunt 3axxuMHoil M6x22 1
19 Bunt M6x20 S 1

20 Bunr (camopes) 5x8 1
21 Bepxnsis mranra 26x660MM 1
22 Buat M5x18 S 2
23 Kponmreitn 1
24 laiixa M5 2
25 [Tonypyuka sieBas 1
26 [Tonypyuka npaBas 1
27 XKectkuii Ban 9x626MM 1
28 Hommumank 6000 RS (10x26x8) 1
29 Inunaens 1
30 | IlInonka (3x3.7x9) 1 lazonokocuika

I'PO-1,5
JIuct 1




I"'azoHOKOCHIIKA
I'PD>-1,5
Jlucr 2

[—F— 0 — ot —
33 32) 31/30 . |29 28/ 16 uu [15 27

26

— ..
w23
1 122
L —
16 UU [15

=T
113

9.12 9.11 9.10

ao__d+’-‘hdl
L

9.2

}7\_
s




